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Major problems by rice - ecosystem

UPLAND HYDROMORPHIC LOWLAND

e

Weeds
Water Control

Drought N Deficiency Poor Water Control
Weeds Blast Drought

N and P deficiency Iron Toxicity Extreme temperature
Erosion Stemborers N Deficiency

Acidity/Acidity Africa Rice Gall Midge Salinity

Stemborers Rice Yellow Mottle Virus .. —
Termites Bacterial leaf blight Alkalinity/Acidity
Bacterial leaf blight

Source: Africa Rice Center (WARDA)
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Weed Research

Can the parasitic weeds Striga asiatica and Rhamphicarpa
fistulosa co-occur in rain-fed rice?
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